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if(jiki.x < 0) jiki.x = 0;
if(jiki.x > 640) jiki.x = 640; (T8 72 DT 640 THOIAR)
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int g_atari(int x1, int habal, int x2, int haba2){
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if( (x1 —x2) < (habal + haba2) /2 && (x2 — x1) < ( habal + haba2) / 2){
return 1;

}

return O;
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void g_teki( void){
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int 1;

for(i=0; i< TEKI_KAZU; i++){
if( tekifi].flag == 1){
/lteki[i] flag = 1 THKAS 5

if( time % 100 < 50){
0 ~ 50 7 L—AHBTE
teki[i].sokudo_x = TEKI_SOKUDO;
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elsed{
/150 ~ 100 7 L— AL B L £
teki[i].sokudo_x = -TEKI_SOKUDO;
H
teki[i].x += teki[i].sokudo_x;
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if( g_atari( jiki.x, jiki.haba, teki[i].x - wallx, teki[i].haba)){
if( g_atari( jiki.y, jiki.takasa,
teki[i].y - wally, teki[i].takasa)){
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teki[i].flag = 0;

}

DrawGraph( (teki[i].x - teki[i].haba / 2) - wallx, (teki[i].y -
teki[i].takasa / 2) - wally, teki[i].handle, true);
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}
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